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Exercise 1 :
Four resistors are connected as shown in Figure .1. 6.0 Q2

1. Find the equivalent resistance between points a and b.

2. What is the current in each resistor if current difference

of 42V is maintained between a and C.
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Exercise 2 :
30Q
Three resistors are connected in parallel as shown in Figure .2. =
A potential difference of 18 V is maintained between points a and b.
1. Calculate the equivalent resistance of the circuits. I l 531
2. Find the current in each resistor.

3. Calculate the powder delivered to each resistor and the total . T

power delivered to the combination of resistors. 3001 6.00£ 90043

Figure 02 . A
Exercise 3:

. e E,=60V
1. Find the current in circuit (Figure .3). - I| + =T
2. What powder is delivered to each resistor? What powder I

is delivered by the 12 V battery?

Ro= 1042 Ry =800
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Exercise 4:

e Given is the multi-loop circuit as shown in Figure .4. Which of the following statements
cannot be true: ~——

- - - — VQ
o A) !1'|3'|.4—0 . . v I11’R|; R2 % l4Ri3ne
e B)I1R1-13R3-16R6-14R4=0 1oy |+ o
e 0C)i3R3-i6R6-14R4=0 B - BTN |
. . . s o 15 R5:> 55 2 .
e D)V-i1R1-i3R3-i2R2=0 Figure 04




Exercise 5:

e Find the current Iy, I2 and I3 in the circuit shown in figure 05. + 7=

.r;._—||+
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Exercise 6: AN i
IlT 300
» Find the current I, Iz and Is in the circuit shown in NA— S AN
figure .6. Figure N
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